SECTION - D

Calculate the cantt deficiency and permissible
speed for a 4° curve on a B.G. track. 10
What are the objects of providing transition
curves on railways ? 4 10
Write a short note on lining of tunnels. 10

Wirite a short note on classification of tunnels. 10
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Before answering the questions, candidates should ensure. that they
hawve been supplied the correct and complete question paper. No

complaint in this vegard, will be entertained after examination.
Note : Attempt five questions in all, selecting one ,@Ccmao:
from each Section. Question No. 1 is compulsory.
All questions carry equal marks.
1..(a) What do you mean by carriage way ? 4

(b) . Define superelevation. Explain with neat sketches

types of superelevation. : 4

(c) What are the causes of road accidents ? _ 4

(d) What are IRC specifications for suitability of

aggregates ? : : 4
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(b)

Write a short note on fixure and fastening. 4
SECTION - A

What do you mean by highway alignment ?

Explain factors affecting w:msg_ma. 10

Explain why the saturation mv\mwﬁﬁ is considerec a
rational method to decide the final road nctwork

and for road development programme. s

An ascending gradient of 1 in 100 meéts a

descending gradient of 1 in 120. A summit curve
is to be designed for a speed of 80 km/hr and

overtaking sight distance of 470 m. - s e

Write a short note “efieisht . distance. at

intersection. 8
SECTION - B

Explain the factors on which the length of valley

curve is designed. . 10
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(b) Calculate’ the length of transition curve for a
design speed of 80 km/hr at horizontal curve of

radius 300 m in rural area. 10

5. Discuss the various treffic studies and  their
imoortance. R : 20
SECTION -C
6. (a) Explain Marshall method of mix design. 10
(b) Write a short note on modified bitumen that can
be used u.,b bituminous mixes. 10
7. Find out the steepest gradient on a straight track for a
train having 20 wagons :
Weight of each wagon = 18 tonnes
Rolling resistance of each wagon = 2.5 kg/tonne
Speed of train = 60 kmph
Locomotive Specification :
Weight = 120 tonnes
Tractive effort = 12 tonnes
Rolling resistance = 3.5 kg /tonne ; 20
| Emwm-&mo-:uéﬁo-@v:9 ("3 el ),

Download all Notes and papers from StudentSuvidha.com


http://studentsuvidha.com/forum/
http://studentsuvidha.com/forum/

